
P.O. Box 1719
Corona, CA 92878 
Support: 877-512-8111
www.aFefilters.com

Intake Kit Installation Instructions: Grand Cherokee 99-05 V8-4.7L Stage-2 Air Intake

Complete kit with parts.

Step 1

Loosen clamp at throttle body and remove 
resonator box.

Step 6

Use ground strap hardware for inner fender for
mounting.

Step 11

Complete stock intake.

Step 2

Loosen clamp at throttle body and remove 
resonator box from throttle body.

Step 7

Thread filter end of housing through opening in filter
housing first, then slip coupler over throttle body.
Tighten clamps at throttle body.

Step 12

Loosen clamp at air resonator box and remove top
half of filter box.

Step 3

Remove four bolts from lower half of air box. 
Note: There’s a bolt hidden underneath airbox inlet

tube. You must use an open end wrench or
adjustable wrench to remove. 

Step 8

Connect supplied vent hose to nipple at intake tube
and at breather vent tube.
Note: no clamps are required.

Step 13

Install filter to intake tube and tighten clamp.

Step 14

Unbolt resonator at manifold (Two bolts, opposite
sides).

Step 4

Remove ground strap at inner driver-side fender-
well. (Keep bolt for installing filter housing.)

Step 9

Remove vent hose at tubing coupler.

Step 5

Before installing housing, apply large trim seal to
top of housing and small trim seal to tube inlet.
Install filter housing using supplied hardware on
lower mounts. 

Step 10

Kit Part # 51/54-10162

Make: Jeep® 

Model Year Engine

Grand Cherokee (WJ) ‘99-‘04 V8-4.7L

Tools Required

5/16" socket or wrench

10mm socket or wrench 

13mm socket or wrench

Ratchet and extension

Med flat screwdriver

Part List:

1 Filter Part # 24-90023 (Replacement filter) or 

Pro Dry STM # 21-90023

1 Filter housing

1 Intake tube 

1 Coupler, Straight, 3.5" D. x 2" L

2 Clamps, Connector #060

1 Vent, Hose 5/8" x 6.5" L

1 Screw, hex head, M6

1 Screw, Hex head, M8

2 Washer, Flat, M6

2 Washer, Flat, M8

1 Washer, Lock, M6

1 Washer, Lock, M8

1 Nut, Hex, M6 

1 Nut, Hex, M8

1 Trim Seal, 29.25"

1 Trim Seal, Tube Opening, 13.75"

Ground Strap

Hidden bolt

Place enclosed CARB EO sticker on a clean/smooth surface on or near
the intake system. EO identification label is required in passing Smog
Check inspection. Make sure all hoses and clamps are tight and that all
electrical components (if applicable) are secure. Check and retighten con-
nections and filter after a few hours of operation.

Step 14

Note: Filter Cleaning and Re-oiling: When cleaning your aFe filter, be sure to use only aFe’s “Restore Kit” (aFe P/N: 90-50001 blue oill aerosol, or aFe P/N: 90-50501 blue squeeze bottle oil). Filter Replacement: PN: 24-90023 (black w/blue media). Pro Dry STM P/N: 21-90023 Pro Dry STM cleaning: see cleaning instruction sheet 06-00074or 72-35008 Pro-GUARD
7™ media, (black w/gold media). Pre-filters: 28-10011 yellow, 28-10012 red, 28-10013 black, and 28-10014 blue Updated 09-2017 06-80015


